EARAROBEEIERT — 2 N— IBISH —F

20155F9A24H () 14mEH3A

IR C2— HY5%3m®t ESR IR
[A&4] 1 %&:250,00 H ~ 23#%&:62,500H ~ 33#%&:30,000H  43#%:20,000M  57%:12,500 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. = > 6| FRE 1:33.0 3-3-4-3 [39.6| — 6 489 | BE#=Z (EM)
11111 Ea-ov>795> g 56.0 (=) o) (B) LYK
L:F—TXT7N=F B:h—zUT7>ED— (1T R - St
S - 5 o4 | BEHT 1:33.3 5-6-4-7 [39.9| — 1 515 | FAAMEE (Ff)
21810 I oIV H 57.0 (1 3/4) +2) SEERE
RihriNZ— BT V)Y —KR J—HrTr—LA
TR 4 3 | BEE= 1:33.4 1-1-1-1 | 40.3| — 2 481 | EEZER (EM)
355 | 7AxE="T1% 55.0 (172) (p) | PEEAKE
LY IRG4T5R B RILXA i vie]
5 — B4 | EREX 1:33.6 2-2-2-2 | 40.4| — 5 430 | #ibEX (EA)
sl 6| ANV UT 54.0 ) (1) |FAREHT
RH TSN A— BUIYY R FHh)Tr—L
R . JIERE— :33. —5-6- . - BAEE (F)
5N 4| 7>V 1R F=1 s 55.0 (11 313/48) AR R ’ :?54) AREE=
L:214¥Yv bV B:Yq—FZX20=— (AYorie ]
= e B4 | FEREA 1:33.9 4-4-3-4 | 40.6| — 8 391 | BEFIRR (Em)
6 7 Z75—L4 54.0 (1/2) o) AE5L
LNAT ==L B:FUEZ =X PIBIH 5
o & . B 3 | AUEE 1:34.0 8-7-9-4 |40.4| — 7 418 | HEHEE (EA)
i 3 KRN et "2 s (3/4) e | XitimiE
R:T7 R4 Y L= B:F)—2V2Tl)— KW
“ F— 47 | WWEHEX 1:34.4 7-8-6-8 | 40.9| — 10 472 | RFIRR (EH)
sl 2 7V hVE 5.0 @ 1/2) (3 |BER
R:viNyBgLHTr B:S7 v U—-5X 1= B—
A= 43 | EllED 1:34.4 10-10-8-8 | 40.7 | — 4 518 | EllIfEa (Em)
9/7!8 X JHNd 55.0L (NF) (v3) | EBFIS
RNT BAHINIIHTS ol e
K # o9 | MNERAF 1:34.4 9-9-10-10 | 40.6 | — 9 474 | FEEM—ER (EH)
10/8|9| ¥¥-AE—F 6.0 (7€) o | ENERT
R:22—-Y>y0-X B:YITII AL HiR5
® 1—F—@EBIERL
1T=7r= 5,6,1,7,10,4,2,3,9,8
23— — 5,6,1,7,4,10,3,2,9,8
Ja=5= 5,6,7,(1,10),(2,4),8,3,9
43—+ — 5,6,1,(3,4,7),10,(2,8),9
[ N5
B 1 1,560 714K 1-10 350M e E 1-8 730M JEE 1-5-10 1,220
B B 1 170 IS5 550M B = 1-10 900M EE 1-10-5 11,880M
10 110 5-10 160M B H 1-10 2,380
5 1309

ABICOVWTRDTEEERROODE. TR LIV,




